8 5=
2024 E ZRIE S =7 Middles(050)28} 5 =i 8%k
XL H:2024/12/2

[t EFE F—L% #wls|5/26] 6/9 | 7/15]8/12] 9/8 | 9/16] 10/6|10/19]10/27] 11/2]11/17] 12/1
1 |XH 2 EIST 7 2 2 1 1 1
2 [FN KE EIST 5 1 2 1 1
3 |BH ¥ ZEFCOB 4 1 1 2
4 [E% B=E ZRFCOB 3 1 2
4 |HFE # EIST 3 1 1 1
4 |RE IE8 wEIST 3 1 1 1
4 |XH £ wEIST 3 1 1 1
4 | ZH EB sEBEEFEFC _0-50 3 1 1 1
4 U £z RILRZ LA NS 3 2 1
10 | HZ#F DEHTAZ—X 2 1 1
10 [F £7 EIST 2 2
10 |IUiE KA RIRAASFC 2 1 1
10 |E¥ ¥$A RILRZ LA NS 2 1 ]
10 [TRE FThf BEREITLUA 2 1 1
10 |&)I B AKG HERENCIA 2 1 1
16 |[EAX £ EIST 1 1
16 |k A RILRZ LA NS 1 1
16 |&HJ)Il B EIST 1 1
16 [EF| Z17 BEREITLUA 1 1 1
16 [MEFH F5h SEEEFFC 0-50 1 1
16 |BJ)Il 1E DEHTAA—X 1 1
16 |AH JHA BEITLUA 1 1
16 |#L FE AKG HERENCIA 1 1
16 [KF f2h BEREITLUA 1 1
16 |=H fEAXER ;EEFFC 0-50 1 1
16 | IEXR ZRFCOB 1 1
16 |ILK &4 kRmec 1 1
16 | BEX AELRAT 1 1
16 |F)Il RIE RIRAASFC 1 1
16 |/hF Z=Al Z BFCOB 1 1
16 |FFF i AKG HERENCIA 1 1
16 |AH =4 3EBFFC 0-50 1
16 IHHF} k& AKG HERENCIA 1 1
16 |&5H &% RILRZ LA NS 1 1
16 rﬁﬁuﬁ E= EEFFC _0-50 1 1
16 |FF DEHTAA—X 1 1




16 %% &% AKG HERENCIA 1
16 |75 (£ Z EFCOB 1
16 (4 1FED ZRFCOB 1
16 |11y &= BEITLUAE 1

0G 2




